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Note : Four possible answers A, 1L C and 1) 10 cach question are given. The choice which yo
fill that circle in front of that gquestion with Marker or Pen ink in the answer-book. Cutting or lilling
two o more circles will result in_zero mark in that guestion
D C n A uestions [ == 74
4 1 2 ) PPN SO L
: Total numbser of medians in a triangle are :
(Sx-4y), (x-4v) (v -4yl (e dy), :J__“":;,;‘—__,.',',;h.‘ I?I}' _12}_‘ ]
(x+3y) (Sx 4 3y) (3v - 3v) (Sx e dy) Factors of $x° ~ 170y - 127 are
4 I~ | ] ﬂ.’.---.i#i.}k’.«!'l’ { “. 1 ).nl ] 0ne j
: o Distance between the points (1, 0y and (0, 1) s
.'_.;'31,_,5.:.-:-:'-__:’(_./n.{'{..ih—jﬁ..‘--" 4
Il 2:1 3o 4:1 The medians of a triangle cut each @ 2
other in the ratio —- :
250 o 14 | ; K F¥ 3-4x <11 able Frabife Lot |3
O - -2 - Which is the solution of the inequality
None of these 4 3—4x<11:
x2718 & ——=loge|®
0.434 0 v g 5
. e 0 loge=-— , where e=2718 :
:.j_n_rt_//.-u?f.:.-_-;uyuf.h QxS i
a:b a-b axb a+b Ratio between two elements *a” and *b" is
represented by :
I3 ]
s =——e e [.r _v] F ] L,.""Lr;.},"’
[x+2y] | [2x-y] | [x-21 | [2x+y] =
2
Product of [.‘I’ _1']{ J is—:
: e SlbshHa -b* sat+b |9
a-b ﬂz—bz 54—54 ﬂz+b2 3 J’) 2 4 _:_
LCM.of a“+b”and a” —b" is—:
1 - "’ S - 1-4'.‘: L s el 3 e lu
“ﬁ. ]_} {ﬂf]l {n'_]} {U} Which .‘LL'J’JU '*':"-"':’LU Fb--'_r....a_"l.-—’r
2 set has closure property w.r.t. addition :
te s x, y ) Fe(x ,0)=( 0, v)A |1
¢1,1) (1,0) (0,1) (0,0) If (x.0)=(0.y). then(x.¥)is :

)} lrLﬂru’eﬁ:-hﬁL':L. d.a-‘-.»g,f.,‘!éu'é 12
BTy 24 bl The region et K Punl 2
None of these Volume Area Perimeter enclosed by the bounding lines of a closed

figure is called -— of the figure :
0° 360° 180° 090° :c.‘_l'n.;!‘fl'fu;':f}duili.‘..f-.f( 13
Sum of interior angles of a triangle is :
(a—b) a+b az_bg "2+b2 =l {\G+\"EHJJ—\G] H
(Va +vb)(Ja-b) isequal to :
scd | e | wp s5 Lo LU L st | B
cmllfrﬁ}ll;ent Concurrent Collinear Parallel ;rr:iaig c';g"‘-_":"’_'“ the sides of the
175-023-1-(Objective Type)-37500 (5193)
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Maximum Marks : 60

( PART -1 Jsi» ) 60 : AF
12 2. Write short answers to any SIX (6) questions @ 3 F iz 2Ly (ﬁ}{;ﬁ}' ;

(i) What is meant by adjoint of a matrix? fed Ve sibilk e ()

et 2A+ 3B ﬁ..:ﬂ:[ 52 "‘:],,,,,:[12 Hﬁ Gi)

e 2 3 5 -4
1) If A=[I ﬂil and B=[ . E]llwnﬁud 2A + 38

(iii) Simplify : 3i53}"3" L £ Gi)
(iv) Simplify : 81 y2x8 : f—’_r/zf (iv)
(v) Calculate : log; 2x log, 81 : Effr':"'.:-é (v)
(vi) Find the value of x : logx = 0.0044 gl ddx (Vi)

o3 P 4B Fn a-b=6 s a+h=10 /1 (iD
(vii) If a+b=10 and a—b=6 then find the value of &’ +b°

(viii) Simplify : 324355510213 2= A (viii)
(ix) Factorize : 125x° -216)° 25 (%)
12 3. Write short answers to any SIX (6) questions : & iz A L iy (6){.:..81( 3
(i) Use factorization to find the square root of : 25 0 fse NP Fax M
4x*-12x+9 '-
(ii) Solve the inequality : 4x-103<21x-1.8 R AN [CO] P 1))
(iii) Define strict inequalities. =y SLuls Foe (D)

3-2x+y=0 :fi.f;ﬂuﬂJy:mr+c Jr..:.th.ﬂ&rd: (iv)

(iv) Write the given equation in the formof y=mx+c:  3-2x+y=0

(v) Define cartesian plane. ..'é..:y /‘T uri_j':'v'-"g_,f; & (v)
(vi) Find the distance between two points : e Lobite n L kG (i)
A(=4,42),B(-4,-3)
(vii) Define right angle triangle. s el ) (vid)
(viii) Whatis meant by HS=H.S? e sl = HS=HS (viii)

b 5 S £ 1756 40° 31 oL e i by & G L1 ()
(ix) One exterior angle formed on producing one side of a parallelogram is 40°. Find the
measures of its interior angles.

12 4. Write short answers to any SIX (6) questions : : & ez L iy {6]{:43)’ 4

(i) Define bisection of an angle. Cedpfeinl i (1)

AL e s’s em 93 em e 2em SEGA (i)
(ii) Justify that 2 cm, 3 cmand 5 cm are not the lengths of triangle.
(iii) Define ratio. tei Ve (i

( f‘l f{jﬂ }



2

4, (iv) Define similar triangles. e Ve yel e (iv) 4
(v) Find the value of x : x Jz e :érﬂ”.:.-f;fx (v)
I
(vi) Find the area of given figure : dem éf:""‘ ..LK(PL?'JJ (vi)
wi
4cm

(vii) Verifythat e o/IzG el 2 LIl IS AL s (vii)
the triangle having the following measures of sides are right-angled :
a=5m , b=12cm , c=13cm

(viii) Define ortho centre. e Srds  (viii)
mAB =48cm, mBC=3.7cm,m£ B=60": EUret AABC (ix)
(ix) Constructa A ABC, in which: mAB =48cm, mBC=3.7cm, m< B = 60°

(PART -II (224 )

Note : Attempt THREE questionsinall. 6389 AUrof oyl ovrd S 2o
But question No.9 is Compulsory.
5. (a) Solve the equation with the help =S Uty Ly (9) 5

of matrix inverse method : 3x—4y=4,x+2y=8
‘ . a!f al’m aln -
(b) Simplify : [ a“‘"] a"“"] [ a"*‘} 2 (D)
6. (a) Use logarithm table to find the valueof : : ’jci.‘rﬁ’.-.-fc.uJJ;g(? £ () 6
12.709 x {1.239

..ér}"':.-flfa2+bz+cz Ix ab+bc+ca=9.u|a+b+r:'=?/rl ()
(b) If a+b+c=7and ab+bc+ca=9 ﬂn’.-nﬁnldlhr.'n.'all.le::}f:':2-!~.'5v2-!-|c:1

7. (a) Factorize by factor theorem : ©—-x2-22x+40 :f;ffdf;.ugfd;f.ﬁ* ) .7
(b) Simplify to the lowest form = 2L A gLy ()
-8 " x> +6x+8
-4 x -2x+l

8. (a) Solve the inequalities : —6{-’:—;3 <6 Sl () 8

L i S o LML 281 & AABC ()
mAB = 4cm mBC = 4.8cm , mAC = 3.6cm

(b) Construct AABC, draw perpendicular bisectors of its sides and
verify that they are concurrent : o
mAB =4cm , mBC =4.8cm , mAC= 3.6cm
S pln Aol Lcumﬁ.uf-w' i é'.:.a‘ 9
9. Prove that * the right bisectors of the sides of a triangle are concurrent g
OR B

" “d' u:r,fl‘ggﬁé.muﬁ.ﬂg{,ﬁﬁmuiiuﬁf O s

Prove that  triangles on equal bases and of equal altitudes are equal in area”.
175-023-I-(Essay Type)-150000
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Note Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.
D & B A Questions / = Jir i/
Ju =1 7 i D Bl e Loz | 1]
Congruent Same Diagonal Opposite In parallelogram opposite sides are --- -
Gx=4y), | G-y, | (x-4y), (x+4y), (B P L Sx 172y - 127 |
¥ +39) (5x +3y) (5x-3y) (5x+3y) Factors of 5x* —17xy 12y are :
(L)L | (Lo) | (0,0) | ie-—B0a-2,2(2,-223 )]
Mid point of the points (2, -2 Jand (-2,2 ) is :
LJI‘L300¢,UJ;/?¢.J£F£.LJ§'Q'3UIJ;V~ i
120° 90° 60° 30° One angle on the :J ngﬁiwfz__,ug Iy
base of an isosceles triangle is 30° , what is
the measure of its vertical angle :
kel ‘¢ ISz Sei L |3
> £ a
il aAi500 L ¢ <1600 If the capacity ‘c’ of an  :--_7xX3, 1600
elevator is at most 1600 pounds, then ---- :
0 e 10 1 :tf_.t'ﬂfl/_L---..(‘J{)l ¥ l/?Jl/fL,f’ 6
The logarithm of unity to any base is --- :
Sy J‘LF‘ — e : Lﬁ(dﬂJ:(J S
Equality Congruent | Proportion Ratio --- has no unit :
. V2 0 2 ol
N A Qlaos g l: 5 ﬁ:l :‘Lﬁglf__x’ﬁ'---:({ A
Singular Scalar Unit Zero L 0 V2]
is called ---- matrix :
S o : b'w(ﬂz —ab + bz ula3 + b3 ¥
a-ab+b* | (a-b)’ a’+b a0 ‘ 3(”3 2 2
HCFofa” + b and g —ab + b” is ---:
: sl ra. 10
=3 3 wl lab LS - i(3i + 2)
Imaginary part of —i(3i + 2) is -=--- :
5 4 3 2 iests yiy=2+1x=2/1| 1l
Ify=2x+1,x=2thenyis -
73 Sl ® 7 »sle! L Bl S Je S | P
Diagonal Median Area Mode Congruent figures have same ---- :
YRS = 1 | L e dndiend Lheot gt |
. The symbol used for * is perpendicular o™ : i
;,!;L’/:; = sl n/;; M :f-----tj/é'-":/' 4x +3y-2 ‘ ‘
Inequation Equation Sentence Expression 4x + 3y-2 is an algebraic ----- : l
4 2 1 3 :‘arxrfr‘:;'_v':ur’/,l/_“,;-/.:_._;':"’-A. B J
Bisection means to divide into --- equal parts
176-023-11-(Objective Type)-29000 (5194)

CamScanner




i
(20222024 ¢ 20002020 M)ty

d
MATHENMATICN  (SCTENCT) (VW) L)
Paper  F thaay Type) O Al O™ o (JA s | ¢4
i l‘j '.
e Allowaed YO howey (g WA in) )00 P
Maximum Marks ol ) o

CPPART ll’nl.a‘ ) '
Wkte short answers (o uny NIN (6) questlons ! & e ,ﬂ Lol (M{.- L“ /
O D tine singular imatiiy.

12 2

-:'_. ef ‘,lg_.,“fil (”

(| 0O . . I ¢ y
an oot | | ‘ and B | ‘ then tid AN .:«l'»l" Al e nl | | 9 ‘ he i)
d A

3
\ N o! ' 4
() Siplity {/ y A% i
. ' ) 'I " ; '|' :, M }l ; ’ ‘ "
VY Simplity and write answer in- o | hi torm Tl Tel VS 0w b iy
(V) Vind the value of v lopgy v ;.;ﬂ'-.l"g:.,:‘d v (v)
) wnd the value of ' IH}-'_\ ~ (), 181 f-:."'ﬁb‘u"'-[.,‘d vo(vi)
(VI Reduee to the Towest form ’:‘('(: : :: A ﬁ-'U-’J\Q' 747 (il
Jn°
Vil Simplity ':UI'.‘S 2 A (vilh)
(X))  Factorize <y - 42 gy (ix)
12 3. Write short answers to nny SIX (6) questions ; s ol R /‘9 L ey (b)(c..df 3
() Find the L.CM. : 30 ylz 91t yts! gh el S @)
(1D Define linear inequality and write the -"_"UJHUJL-Anli_ﬁ;._&i/’dg;ld -ﬁ;‘d.n..il_ (i)
standard torm,
GiD) Solve : :.\- 5| &S i)

(V) Draw the point (4, 5)onthe graph paper, “;-,l»‘,rw ¢@;..Jfff( 4,-5)

(iv)
<w! J Ctas o v
Gl 2SRt K (y)

:Z:.":[‘rl‘"-l-'Uanb'LL‘i'f.'.{i,rl (vi)
A3, -11), B(3,-4)

(V) Define cartesian plane,

(Vi) Find the distance between the points

(ViD) - Define equilateral trinngle.

-:;5;.{!/7&‘.5.0-(,1911!6:!.3 (vii)
Y‘f—"/’kf‘;’ L/-U‘-U’ U.'-Lfl.u.’ (vin)
G S ng e (ix)

12 4. Werite short answers to any SIX (6) questiony ;

: l‘_‘ra-}l!.' /ﬂ L ey ((b)(c.df A

p ol ()
ol ‘ A S
" -ﬁd"b"c—tﬂ'-wuﬁ,.uw’tﬁ-‘-b*d Tem mdemc3em (i
(1) 3em, 4 emand 7 em are not the lengths of the triangle.  Give the reason,
(i) Define ratio,

.'.'.,'.’s_é‘/.’d’.:.-r’ Gin)
( :;q,IJJ! )

(ViiD)  Whatis meant by $.8.8 » §.8.8 9

(iX) Define parallelogram,

(1) Define the bisector of line segment,

CamScanner



(7)

4 Gy) Detine Pythaporas thearem R q;ﬁd':,,fcg,r.- Gyv) A4
« ; -
(v) 1 ind the vidue of ’n,-,., ;L{--(J-"_:,:_flj; (v)
i .
L0
(vi) Dehine slutude of o tnangle, -.’_f.-’-.._i!/""ld'{,'ﬁﬂ[.¢.l?- (vi1)
(vin) Find the wrea of given fipure l ‘ : Z.T;{-r}"éfffgdfd) (vii)
'
4cm
(Vi) Define incentre of a triangle, -«ﬁfué’/’l}/?/d“” i §alee (viii)

mXY < SS5em, mZX - A5cm,ms 7 90! (J:L))é-—lr Xyzels (ix)
(ix) Constructa AXYZ, in which: mXY ~5.5cm s mZX =4.5cm, mz 7= 90"

( PART 11 (194 )
Note : Attempt THREF, questions in all, -4.0')0 9 ﬁ’JIrd?-éablkéaﬂlfdJ %)

But question No.9 is Compulsory.

5. (@) Use the matrix inversion :’a_gd’fu;hl/c.u&_)‘:“dﬂéwr'ﬁ' (h) .5
method to solve linear equations
Ax+2y=8
3x -~ y=-1
n 5 e An-1 7
(b)  Simplify : (-’-‘—l—)—-fg—;‘,——(ﬂ-i--ﬂ—(2@)- é/"" ()
(9 H ) (3 )
6. (a) Uselogtables to find the value of - :.’».j:(Pof.;qu,,«;fzﬁ? ) 6

0.8176 x 13.64
-E;':(r;l”'c.‘fJx+y+z In xy+yz42x=59 s x>+ y? 422 =78 ) ()
(b) If x®+y*+2% =78 and xy + yz+ 2 = 59 then find the value of x+y+z
7. (@) Factorize by factor theorem : x> -2x%-x42 :édfc.u(fdf.l’/ ") 7
(b) Find the square root by division method - ; ’.:f:l(:l"'@/bjg(.?;r.g;:a, ()
x* ~10x* +37x% - 60x + 36

it I ZEF (h) 8

2-x
 E o LU L g1 e L ABCate (L)
mAB =53cm , miA=45° . msB =30° '
(b) Construct triangle ABC , draw the perpendicular bisectors of its sides -
mAB=53cm , mZA =45 | m/B =30°
K doldiSiln ety L 15 5 Lininlls pirifor L i3 o5 5 BLS S 9

9. Prove that any point on the right bisector of a line segment is equidistant from its end points.
OR L

UnCide L3 $35 £ f1iso s 2 el ssuig 58 Iy oG $f1 S o

Suniet Im Unstin Loy )
Prove that the parallelograms on the same base and between the same parallel lines
( or of the same altitude ) are equal in area.

1 76-023-11-(Essay Type)-116000

8. (a) Solve :
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